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1. Find	the	perimeter	of	the	shaded	region	given	below

(i) 130.00	m (ii) 114.00	m (iii) 118.00	m (iv) 143.00	m

2. Find	the	perimeter	of	the	shaded	region	given	below

(i) 139.00	m (ii) 142.00	m (iii) 127.00	m (iv) 165.00	m (v) 156.00	m

3. If	the	perimeter	of	a	square	is	48.00	cm,	the	side	of	the	square	=

(i) 17.00	cm (ii) 15.00	cm (iii) 9.00	cm (iv) 7.00	cm (v) 12.00	cm



4. If	the	breadth	and	area	of	a	rectangle	are	14.00	cm	and	238.00	sq.cm	respectively,	the	length	of	the	rectangle	=

(i) 14.00	cm (ii) 20.00	cm (iii) 17.00	cm (iv) 12.00	cm (v) 22.00	cm

5. If	the	length	and	breadth	of	a	rectangle	are	16.00	cm	and	15.00	cm	respectively,	the	area	of	the	rectangle	=

(i) 240.00	sq.cm (ii) 254.00	sq.cm (iii) 214.00	sq.cm (iv) 237.00	sq.cm (v) 257.00	sq.cm

6. If	the	length	between	any	two	consecutive	points	is	5.3	cm,	find	the	perimeter	of	the	given	figure

(i) 191.80	cm (ii) 190.80	cm (iii) 189.80	cm (iv) 188.80	cm (v) 192.80	cm

7. In	△PQR,	if	QR	=	10	cm,	RP	=	13	cm,	PQ	=	11	cm,	then	perimeter	of	the	triangle	=

(i) 37.00	cm (ii) 31.00	cm (iii) 34.00	cm (iv) 29.00	cm (v) 39.00	cm



8. If	the	length	between	any	two	consecutive	points	is	8.9	cm,	find	the	perimeter	of	the	given	figure

(i) 126.60	cm (ii) 123.60	cm (iii) 122.60	cm (iv) 125.60	cm (v) 124.60	cm

9. If	perimeter	of	an	equilateral	triangle	60	cm,	the	side	of	the	equilateral	triangle	=

(i) 17.00	cm (ii) 23.00	cm (iii) 20.00	cm (iv) 15.00	cm (v) 25.00	cm

10. If	the	length	between	any	two	consecutive	points	is	5.9	cm,	find	the	perimeter	of	the	given	figure

(i) 69.80	cm (ii) 72.80	cm (iii) 70.80	cm (iv) 71.80	cm (v) 68.80	cm

11. If	the	length	and	area	of	a	rectangle	are	20.00	cm	and	200.00	sq.cm	respectively,	the	perimeter	of	the	rectangle
=

(i) 63.00	cm (ii) 65.00	cm (iii) 57.00	cm (iv) 55.00	cm (v) 60.00	cm



12. If	the	perimeter	of	a	square	is	68.00	cm,	the	area	of	the	square	=

(i) 306.00	sq.cm (ii) 313.00	sq.cm (iii) 274.00	sq.cm (iv) 289.00	sq.cm (v) 276.00	sq.cm

13. If	the	perimeter	and	area	of	a	rectangle	are	64.00	cm	and	240.00	sq.cm	respectively,	the	length	of	the	rectangle
=

(i) 17.00	cm (ii) 20.00	cm (iii) 23.00	cm (iv) 15.00	cm (v) 25.00	cm

14. If	the	side	of	an	equilateral	triangle	is	10	cm,	the	perimeter	of	the	equilateral	triangle	=

(i) 25.00	cm (ii) 27.00	cm (iii) 33.00	cm (iv) 35.00	cm (v) 30.00	cm

15. If	the	length	and	area	of	a	rectangle	are	18.00	cm	and	252.00	sq.cm	respectively,	the	breadth	of	the	rectangle	=

(i) 9.00	cm (ii) 17.00	cm (iii) 14.00	cm (iv) 11.00	cm (v) 19.00	cm



16. If	the	length	between	any	two	consecutive	points	is	3.9	cm,	find	the	perimeter	of	the	given	figure

(i) 70.20	cm (ii) 71.20	cm (iii) 68.20	cm (iv) 72.20	cm (v) 69.20	cm

17. In	an	isosceles	triangle	△ABC,	if	BC	=	17	cm,	CA	=	AB	and	perimeter	is	37	cm,	then	side	AB	=

(i) 5.00	cm (ii) 10.00	cm (iii) 15.00	cm (iv) 13.00	cm (v) 7.00	cm

18. If	the	length	between	any	two	consecutive	points	is	7.9	cm,	find	the	perimeter	of	the	given	figure

(i) 159.00	cm (ii) 157.00	cm (iii) 156.00	cm (iv) 158.00	cm (v) 160.00	cm

19. In	△PQR,	if	QR	=	13	cm,	RP	=	19	cm	and	perimeter	=	45	cm,	then	side	PQ	=

(i) 8.00	cm (ii) 16.00	cm (iii) 18.00	cm (iv) 13.00	cm (v) 10.00	cm



20. If	the	side	of	a	square	is	12.00	cm,	the	perimeter	of	the	square	=

(i) 45.00	cm (ii) 48.00	cm (iii) 51.00	cm (iv) 43.00	cm (v) 53.00	cm

21. If	the	length	and	perimeter	of	a	rectangle	are	13.00	cm	and	48.00	cm	respectively,	the	area	of	the	rectangle	=

(i) 160.00	sq.cm (ii) 143.00	sq.cm (iii) 127.00	sq.cm (iv) 115.00	sq.cm (v) 159.00	sq.cm

22. Find	the	perimeter	of	the	shaded	region	given	below

(i) 130.00	m (ii) 114.00	m (iii) 142.00	m (iv) 144.00	m (v) 127.00	m

23. If	the	length	between	any	two	consecutive	points	is	8.6	cm,	find	the	perimeter	of	the	given	figure

(i) 68.80	cm (ii) 70.80	cm (iii) 69.80	cm (iv) 67.80	cm (v) 66.80	cm



24. If	the	length	between	any	two	consecutive	points	is	7.7	cm,	find	the	perimeter	of	the	given	figure

(i) 90.40	cm (ii) 92.40	cm (iii) 93.40	cm (iv) 91.40	cm (v) 94.40	cm

25. If	the	breadth	and	area	of	a	rectangle	are	6.00	cm	and	72.00	sq.cm	respectively,	the	perimeter	of	the	rectangle
=

(i) 39.00	cm (ii) 33.00	cm (iii) 31.00	cm (iv) 36.00	cm (v) 41.00	cm
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